EA949H—51~H—56 [RTULARA]7ONXAM—X

IR ADD I

ik

b4

X ,,\_

L
(AN

¥ IAFIAIIAAI I
i

A

LAl

_—

e
-
e
e
N

—_—

™Y

BHLPHHREHREL-ERTEH,. BSHAEHAIC
RECETLHFEINEERSVIDRTT  HFICEE
AIZELTWET,

BIEARAOIT LAFNTNET,
ATULAETT DT, MHEICERLTLNET,
BELERILEDREIZFAO Iy vEERALTNE
FTOTIAENRL—XTY,

OME - RATLT L+ATU L AEHHE (SUS304)
AT AR (SUS304)

@7 & --500kg

o H A X (mm)
Hﬂ%

Al A2 A3 A4 Ab
H-51 5.5 13.5 60 19 79
H-52 7 13 50 20 70
H-53 1.5 16 70 23.5 93.5
H-54 10 17 70 27 97
H-55 13 17 100 30 130
H-56 13 17 130 30 160

({e)
<C
M1

i

!

!

|

|

| @

1] =

| -

| <

i

i

!

i -
| ] =

. = .

AL

$E1

52

A6 DET M1 E(e)
12.8 40 M8X1.25 72
16.8 40 M10X1.5 92
18.8 50 | M12X1.75 165
23.6 60 M16X2.0 279
29.8 60 M20X2.5 466
29.8 60 M20X2.5 520



